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General Instructions :-

(i) YE-EdTEEdfafE- @), @ @@

Question paper is divided in three sections (A), (B) and (C).
(ii) &I (3N) & qft I3 B HeT A )

All question of section (A) are compulsory.
(i) WUE (@) W@ (@) & A Ff it U Gug ' HET R)

Solve any one section from section (B) and (C).

(iv) W& @ug & ot oAt & 3ot wa @ v we forg s anfrg

Write all answers of each section in sam place.

(v) Hfawan ez v &1 ot fad deifas it & R )

Maximum word limit is only for the theoretical question.
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Section - (A)
ardert i an FERE & o i)
(Partnership Firms and Company Accounting)
fryr: gue(a) ¥ it ve ARAHE ¥ v Fwiw 1 & 6 TF
Ff A 307 T A T T W 1 3w Fraifa ) v
T T I 1 o2 A7 | A A AT & T e e ot R

Instruction: All question of Section - (A) are compulsory.
Question No. 1 to 6 are very short answer type questions
carrying 1 mark each. Answer the questions in 1 word or
1 sentence and objective type questions are also there.

T I
Objectrve Type Question:

TH-1 TRFHTEOANE- "
() Fd & TS A i T
@ fetFaETEadtaie
(@) TR F QA9 I eafa &

@ IHEF@RH

Which of the goodwill have least value -
(a) Dog natured goodwill

(b) Cat natured goodwill

(c) Rat natured goodwill

(d) All of the above
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wA-2 et
(30) T W F FH @) wafrad & ame
@ AFmERFEE (7)) REERF
Realization account is -

(a) Nominal A/c (b) Assets A/c

(c) Personal A/c (d) Liabilities A/c
-3 HEAT SO 2 -

(3N F F AR @) N F @

@) s @ AT HE A

Equity shareholders are -

(a) Creditors of Company (b) Owners of Company

(c) Customers of Company (d) None of these

U4  GrRei AR ¥ Aty g @&ar faat gt 22
What is the maximum number of members in
partnership business?

-5 agel @ i i A R fina w amiaia S
At which value the assets of a dissolved firm are
transferred to realization A/c?

W6 HIHIY TxT & o 7 {93 ¥ vz fifa s a9 e &
ey farer v aled &

At the time of retirement the reserve shown in balance
sheet is distributed among the partner in which ratio?
L-242301-B
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Ay v 1 7 10 T Y IT0T 79 § 1Qe W3
iz Pratie & 3 fvFaw wag Wiy so e
Instruction: Question No. 7 to 10 are short answer type
questions. Each question cames 3 marks. Maximum
word-limit of answer is 50 words.
a7 AR el F AT R IR - I G TR IR 13]
Which accounts are opened when a firm is dissolved?

v Tt fafiee v v 40,000 €. A Eu dzd A FI AN 13]
s Tiaea § 3R It afr e e Aw F e wfa 10w
e v s (qotee) el el Tt R, B gt &
Faws Gt gfafeat fivm
Gayatri Ltd purchased one machine worth Rs. 40,000
from Hira Ltd Half amount was paid in cash and for

balance amount equity share @ Rs. 10 each were issued
pass necessary journal entries in the book of Gayatri Ltd.

TR InfaRsIwFFIE 1,000 @ Aramfal  (1%+1%
T3 70 A & YRR & Y% 7 100 %. I3 2,000, =3]
12% FUI9AT F FriAT 5% T2 W famm saws &
wfateat fifag

Ansh Ltd purchased assets of Rs. 1,90,000 from a
company and for its consideration issued 2000, 12%
debentures of Rs. 100 each at 5% discount. Give
necessary Journal entries.
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weA-10 Rt & amr <A fafinz % 20 5. 1 100 31 3, S @ 131
R Friftm AR M N 3 4 vP IR T, 5 5. AEIA T
5% wou A 7 9t i fav, frey sifm armn % 6.5 0f
J T T F AN Tk A w v w fern em
wfafem Hifsrg
Vinita had 100 shares of Rs. 20) each of ‘A’ Ltd which was
issued at par. She paid Rs. 4 on application, Rs. 5 on

allotment, Rs. 5 on first call but last call Rs. 6 was not
paid by her. Her shares were forfeited. Pass Journal entry.

ﬁiﬂ:—‘ﬂﬂm 119 12 a‘gaﬂﬂwmﬁmmq
4 3% Frafia & 7@ 79 | il fawea b

Instruction: Question No. 11 and 12 are short answer type
questions. Each question carries 4 marks. Each question
has an intenal choice.

WR-11 e, TR 3R gy wEer ¥ ety w221 F [4]
aled & St goft 3 10,000 ¥, 8,000 ¥. ¥ 6,000 7. &
T ¥ 3ifaw @@ 1 R F TEE I T R Gt W 5%
e ST AT ¥ it @ & ez T4t e mar e f
AT ore § 31 77 wn g7 ReR & =&E R/ 2% v
BT 2 ad & Trow F TaRESAER wrgerd & gt 'n
Bz 77 Xz w anrifa fd aeh wwrare wfafe dfag

Yash, Rashi and Khushi are partners, their profit and loss
ratio is 2:2: 1, their capital were Rs. 10,000, Rs. 8,000 and
Rs. 6,000 respectively. At the end of the year they came
to know that interest on capital was not credited @ 5%

L-24 - . T.
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p.a. which was to be allowed as per agreement. Instead of
altering the signed balance sheet. 1t was decided to make
an adjustment cntry in the capital account of partners at

the beginning of next year. Give nccessary journal entries.
A
OR

o, 3w o E AR S anv-wfY w e
5:3:2 % srqam & 7@ & @6 = 30,000%,
20,000 ¥. 4T 10,000 ¥. ¥ T 2015 ¥ G o = 8%
e & T W 10% TS R & Hfee fawar mar wm 1R
qur ¥ forg v e viaft dfeg

A, B and C are partners in a firm sharing profit and loss
in the ratio of 5:3:2. Their capital were Rs. 30,000,

Rs. 20,000 and Rs. 10,000 respectively. For the year 2015,
interest on capital was credited to them @ 10% pa
instead of 8% p.a. Pass the necessary adjustment entry for
rectification of the error.

w12 mﬁmmﬂﬁmmmmm fa (141414
fafut = amgmed 1=4|

What are the different methods of valuation of goodwill?
Explain any two.
qaqv

OR
a1 391 B3 & FUT Y g (3 9N)

Explain the causes of creation of Goodwill. (any four)

242301-
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fakn g izl;f-_l-'._-l_; " 15 e Aok raftn 7 B R 3T
6 3% frvffra by 2w vy o wtatrs frwem

Instruction: Onestion Mo 13 1 15 are long answer type

questions Fach question carnes 6 marks Each question
has an internal choice

wWR-13 R o a o A araar ¥ o sy w1 frares 3.2 (6]
%A M = TR 33 50,000 5 st 30,000 5. 0 ARt
6% 1 1w 27 @ orra Tanfra wrn o X ey WA E
F9 1 2500 5. 7 74 21 0 wd 2020 & A it w oA ®
frator % @ w1 - #7 A Frwre & vz A of
12,500 5. ¥ ! 758 s = £ wifar w5, wwr w
& 59 8 081 BT 23 & 7 & A oot w A w2
A and B are partners in the ratio of 3:2 with capital of
Rs. 50,000 and Rs. 30,000 respectively, on which interest
is payable @ 6% p.a. ‘B’ is entitled to a salary of Rs. 2,500
p.a. Profit for the year 2020 before allowing interest on
capital but after charging ‘B’ salary was Rs. 12,500. The

manager is entitled to a 5% commussion on profit (before
charging such commission).

Prepare profit and loss appropnation A/c.
aqn

OR
frvr & e @ B 3 wrger | 373l 2015 w® =
WI: 25,000 ¥. 3 20,000 §. dh T ¢t 7T 89 ferat
T sy fagr Aran & adr i ATt 9T 129% ST ST
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e & Fow 3 1 ¢ 2015 W 10,000 ¥, T B /T F ¥
ﬁﬁmms.ooos.aﬁaam#mmaﬁmwﬁ

W SIS FHE: 600 ¥, T 500 &, T Tam 31 Rt 2015
) T T T T ITG FATRNA ¥ G 25,000 F, am T
2015 # a1 e g Ry

Nibha and Ranjana are partners in a firm whose capital on
1* January 2015 were Rs. 25,000 and Rs. 20,000
respectively. They are allowed interest on capital @ 8%
p.a and interest on drawings is charged @ 12% p.a. Nibha
gave Rs. 10,000 to the firm as a loan on 1% July 2015.
Ranjana is entitled to get an annual salary of Rs. 5,000.
Interest charged on their drawings were Rs. 600 and
Rs. 500 respectively. The profit for the year ended on
31% December 2015 before making above adjustment was

Rs. 25,000.
Prepare profit and loss appropriation A/c for 2015.

TE-14 X AR Y 3:1 % AR & 31 fewaw 2014 Fi ar fagr [6]
fefafaad
AT g aiq gt

FRR 10,000 | gl 16,000

& & 20,000

X 30,000 AT 2,000

Y 10,000 | 40,000 %37 24,000

& 12,000
62,000 62,000
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(9)
F1IAL 2018 RN Z Nt w AT L
() ZBhF R 10,0005 2 st wt Farft O £ @
1/5 T & fo10. 8,000 5. =pufa % am
(ii) T T T FT 927 10% J %7 F7 X 3 /O
w1 ¥ fero, 5% & wffa w1 g9 fem srom
(iii) T FTHT 20% & F2P0 A

X and Y were partners in the ratio of 3:1. Their Balance
Sheet on 31® December 2014 was as follows:

Liabilittes | Amount Assets Amount
Creditors 10,000 | Debtors 16,000
Capital A/c. Stock 20,000
X 30,000 Furniture 2,000
Y 10,000 40,000 | Building 24,000
B/P 12,000

62.000 62,000 |

They admitted Z on 1 January 2014 on the following
conditions.
(i) Z should bring Rs. 10,000 as capital for 1/5* share.
(ii) Z should bring goodwill Rs. 8,000.
(iii) Reduce furniture and stock at 10%
(iv) Reserve for Bad debts at 5%
(v) Increase building by 20%
Prepare Revaluation account.
wa

OR
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o sl aen G E F arger kA 3.2 A

v st I RE R v -
fegr
(31 = 2011 9
I at Y L8]
AR 25,000 |UFE Y 5,000
EIES] IR 25,000
T 80,000 () YU 5,000 | 20,000
FSRIT 35,000 | 1,15,000 [ = 35,000
LE] 45,000
= 35,000
1,406,000 1,40,000

| St 2012 R P TR EE & 14 R R
AR T T o
(1) FAHIYET 15,0008 AqgAT I

(2) FHFE10,000% FTAT Y

(3) R R Zaa I & ford UM 10% ¥ TR &
(4) T 20,000 %. BT & 3mm '

TR W #1521

aiasetel 1 1111 [ [ ST
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Ram and Balram are partners in a firm and profit sharing
ratio is 3:2 balance sheet is as under

Balance Sheet
(as on 31.12.2011)

Liabilities Amount Assets Amount
Creditors 25,000 | Cash Balance 5,000
Capital A/c. Debtors 25,000
Ram 80,000 (-) Provisions 5,000 20,000
Balram 35,000 | 1,15,000 Sk 35.000

Machinery 45,000
Building 35,000
1,40,000 1,40,000

On 1 Jan. 2012, Shyam was admitted for 1/4 part on
following conditions.
(1) Value of building is to be increased by Rs. 15,000
(2) Cost of machinery to be reduced by Rs. 10,000

(3) Provisions for debtors to be maintained 10%.

(4) Shyam will bring Rs. 20,000 for goodwill.
Prepare Revaluation A/c.

WR-15  <fiar uoe st Y Wi 20 5. I 10,000 I frifve fadh it
3t ¥ g mde W & R T R IRt @ R g of-
5%, WA T, 10 ¥, AEA |, 5 F. I R 39 F b
¥ faar vam ot ofired W & T naws e wfafat

g

16]
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Neeta and Co. issued 10,000 shares @ Rs. 20 each.
Application received for all shares payable as Rs. 5 on
application, Rs. 10 on Allotment and Rs. Soncall. All the
calls amount received. Pass necessary journal entries.

HEQU
OR

T FE Y 20 & Tt 10,000 3w Frifa fah ofimi s
YERIG A - 10T JRA R, 5%, AEARIATS & Wfd
JI ATEAT T 400 JHT S fore wah e & gra=r ufdr e 1t
& o Y geaanl § sHa yiafeat i

Lokesh Co. issued 10,000 shares of Rs. 20 each amount
payable Rs. 10 on application, Rs. 5 on allotment and

remaining amount Rs. 5 on call. Share holders of 400
share failed to pay call amount. Pass Journal entry in the

books of the company.

3w I FHIF 16 T 17 G0 99 §) ¥F I W 8
3% fraiia 1 Toie T R Siafie Reeg &

Instruction: Question No. 16 to 17 are numerical
questions. Each question carries 8 marks. Each question
has an intemal choice.

WE-16  Te I O B F WRer & 3R 3:1 % arpme F ey 8]
i T favrer 3 8 381 31 Rew 2015 Y arderd
w0 b e T St snifdes Rty v v oft
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LIRS e awate ufw
SR 2,700 | ¥HF 053 | 3,000
LKL 3,000 | 3R 1,000
WEA TR 3,000 | <02 19,700
k< - 9,000
T 12,000
AET 12,000 | 24,000

32,700 32,700

geafert & oy ageh & - 3927 900 5. <M 18,000 .
T W& 7,200 3. AT & FT PTaH 7 2,600 F. fear mm
gl = 500 . T TG QAT T AR 1 St @
Rl

Radhe and Mohan are partners in a firm who share profit
and losses in the ratio of 3:1. They decided to dissolve
the firm on 31 December 2015. Their balance sheet was

HRIERITHAING e

as follows.

Liabilities Amount Assefs Amount
Creditors 2,700 | Cash at Bank 3,000
General Reserve 3,000 | Debtors 1,000
Mohan’s loan 3,000 | Plant 19,700
Capital Building 9,000
Radhe 12,000
Mohan 12,000 24,000

32,700 32,700
L~242301-B P.T.O.
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Assets were realized as under;

Debtors Rs. 900, plant Rs. 18,000, Building Rs. 7,200,
creditors were paid Rs. 2,600 in full sctticment.
Dissolution expenses amount to Rs. 500.

Prepare Realization A/c and Partners capital A/c.

T
OR

fds Rem kR s agertama s [5+3=8)
w1 fare 2:2:1 & SO & 7 ¥ 31.12.2018 F ITHT

Tagr &y a1
SIS Tt i s

SRR 24,000 | UFT 12,000

T 999 10,000 | 292K 16,000

k< g9 (-) 500 15,500

=% 30,000 = 15,000

fawwa 24,000 GHTR 19,000

famet 12,000 | 66,000 | = 38,500
1,00,000 1,00,000

v fafa w =i wit & guraa & favla foram amfagt @ g
YR TG B - 292 14,700 5., T 14,000 5. FT=g
18,000 &., 93 41,500 %. 3ard # qof o F 23,000 %,

242301-B
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Rt mh 1eht ¥ ooy 1,000 5 %1 mn ageh @ 3
argmt w4l arver
Vivek, Vikash and Vishal are partners in a firm and share

profit and loss in ratio of 2 2 | Balance sheet as on
31.12.2018 is as under

Liabilities Amount Assets Amount
Creditors 24,000 | Cash 12,000
General Reserve | 10,000 | Debtors 16,000
Capital A/c. (-) Reserve 500 | 15,500
Vivek 30,000 Stock 15,000
Vikash 24,000 Fumiture 19,000
Vishal 12,000 66,000 | Building 38,500

1,00,000 1,00,000

Firm dissolved on the above date. Assets realzed as
under Debtors Rs. 14,700, Stock Rs. 14,000, Fumiture
Rs. 18,000, Building Rs. 41,500 creditors settied at
Rs. 23,000 Realization Exp. Rs. 1,000.

Prepare realization A/c. & partners capital A/c.

-z0L8 HIIRDERNIN 2eers o
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WeT17 Of e 100§, I 1000, 8% T Rl R (14141
FREAWI0E, AEAAR20F, TAH AEATWA0F, q9r 1H1+1+
i qreaT W 30 ¥ Wi worex $it gv & vy it wih adt +1=8§)
uftrt ureeR T @ T e B gt ¥ ooht e
iy

Rashi Ltd. Issued 1000, 8% debentures of Rs. 100 each.
Amount payable Rs. 10 on application, Rs. 20 on
allotment, Rs. 40 on first call and Rs. 30 on final call.
All amount were duly received. Pass entnes in the books
of company.

-1
OR

sw fafaez ¥ 100 %. 3wt 10,000 v Frffm R T w

30 %, HATEH |, 40 T. HET W, 10 F. TIT <A1 9090
20 %. Jifaw AT R 3 & st oftrat TwEEg W @ )
FT i gean! 7 Srave it wfafat fifsg

Vansh Ltd. issued 10,000 shares of Rs. 100 each, amount

payable as Rs. 30 on application, Rs. 40 on allotment,

Rs. 10 on first call and Rs. 20 on final call. All the
amount were received in time. Pass necessary Journal
entries in the books of the company.

LA UTRHIRAIONEAIHDR  2emss
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Tz - (@)
Section - (B)
(Freftr Frrmit 57 Foygieao)
(Analysis of Financial Statement)

Frd: w7 i 18 w19 e o 3 e IS T
W 1 3% Prffa i

Instruction: Question No. 18 and 19 are very short answer
type questions. Each question carries | mark.

wét fawey .
Choose the correct option:
T¥-18  Udg § g IRadaT & FRoM 1 faseror } - 1]
(37 Vg ¥are fawetsor (@) wvarg
@) wafer favemu @ FEaHg

Analysis of reasons for changes in cash is -
(a) CashFlow Statement  (b) Fund Flow Statement
(c) Trend Analysis (d) None of these

WER-19 TS I o 3 7 g 1
Write formula for calculating liquid ratio.
39 W HHIH 20 ¥ 22 7% Y SR T A )RS TR
4 37w Frafia 1 7S 79 W Jials fwea N

Instruction: Question No. 20 to 22 are short answer type
questions. Each question carries 4 marks. Each question
has an internal choice.

Um0 HIMNRIALN e RO
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UvR-20 Fre gEeei @ | JgeE A e R 4]
|1 24atd 1,40,000 ¥
Frdfier it 1,80,000 F.
TR 3,000 %,
Wi 1,10,000 %.
Find out liquid ratio from the following information-
Current liability Rs. 1,40,000
Working Capital Rs. 1,80,000
Creditors Rs. 3,000
Stock Rs. 1,10,000

HEqT
OR

o Imerd @ =1e] S &t orr ifo -
a1 /9T 1,00,000 %.

IRt R 60,000 F.

A T 20,000 %.

i = weafrat 50,000 %.

From the following information calculate current ratio-
Total Assets Rs. 1,00,000

Share holder fund Rs. 60,000

Non-current liabilities Rs, 20,000

Non-current assets Rs. 50,000

“L-242301-B .
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w=-21

g yare e 397 & am 2w R

Write the four objectives of cash flow statement.

HEqr
OR

Vg YaTe faaur 9 & = e &t fafag

Write any four utilities importance of cash flow
statement.

q¥R-22 TR U S S 31-03-2018 F GHH T AT 99 | 50,000
1 o A foram Freifiea gt & SR R E=eH
forara & U ware faraor +ms

Taqer 31-03-2017 | 31-03-2018
i) 14,000 12,000
ST STl 40,000 50,000
Qe T 2,000 3,000
I G 4,000 3,000
M A 30,000 35,000

Hari and Company eamed Rs. 50,000 as profit on the
year ending 31-03-2018. Prepare cash flow statement
from the following information on the basis of operating
activities.

[4)

4]

1L-242301-B
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Particulars 31-03-2017 | 31-03-2018
Stock 14,000 12,000
Trade Received 40,000 50,000
Prepaid Rent 2,000 3,000
Outstanding Expenses 4,000 3,000
Trade Liabilities 30,000 35,000
FYAT
OR
= A & AR W EETeH (Rt & U e it
T i -
Tator 31-03-2007 | 31-03-2008
TTY-ETH §Tar 1,20,000 | 1,10,000
TR 62,000 50,000
HIT TH0ET 42,000 24,000
qE ST 4,000 8,000
TR 38,000 26,000
=AM 76,000 80,000
Calculate the cash flow from the following operating
activities.
Particular 31-03-2007 | 31-03-2008
Profit and Loss A/c. 1,20,000 1,10,000
Debtors 62,000 50,000
Outstanding Rent 42 000 24,000
Prepaid Insurance 4,000 8,000
Creditor 38,000 26,000
Goodwill 76,000 80,000
" 1-242301-B
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. v i 23 O 3la v B WA R 6 IiF
faffa ®

Instruction: Question No. 23 is long answer type question
it carries 6 marks.

wyR-23  fafia faan 3 fagctyor Y strawear & aEsd (318 6) [6]

Explain any six necessities of financial statement
analysis. (any 6)

.11
OR

it fraont & fasateor 7 R awEsd (S )

Explain the objectives of financial statement analysis.
(any six)

- P.T.O.
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qE - (X)
Section - (C)
(TP DTiH)

(Computer Accounting)

A v e 18 T 19 R ) Iwlia v & v v
w | 3w Ruifr &

Instruction: Question No. 18 and 19 are very short answer
type questions. Each question camies 1 mark.

Wﬁ'ﬁq‘ﬁﬁ‘{:
Choose the comect option:
we-18 et S ediw R - ()
(30) MS i () Wik
@ sFts @) WY
Which of the following is a hardware?
(8) MS Office (b) Graphics
(c) Monitor (d) Photoshop
WER-19  FRRT R W & A 2 et ferfgg 1

Write any two examples of hardware in a computer?

e s i 20 @ 22 7% Y 3T TE & RS TE R
4 3% Fraiia & Yo v w rafE e &

Instruction: Question No. 20 to 22 are short answer type
questions. Each question carries 4 marks. Each question
has an intemal choice.

L-242301-B
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avi-20

-2l

w-22

weazt AY g fadverr At w1 eergrga) (HE o) [4)
Explain the characteristics of computer. (any four)

Fruay
OR
Writc the importance of computerized accounting Sy stem
(any four)
& QT ATRAR 8T 33 4w e aet w A 2A fr (4]
TR Bt 87

What points are kept in mind while taking any
accounting software sourcing?

A
OR

FI  FEFHAT & FFAR Fi0r s (Fi TW)
Classify computer on its basis of efficiency. (any four)

Ty oy yoe % w1 iRy @ 9R)) [1x4=4]

Write the functions of database management
(any four) '

T
OR

LR HIIRRIARITRE e e
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WeH-23

Sreviic w4 22 38 I ot fafeg [1+3=4]
What is Spreadsheet? Write its uses.

fader. v Wi 23 i Il v ) 59 I W 6 IAH

fraifa &

Instruction: Question No. 23 is long answer type question,
it carries 6 marks.

Ly Aiee freew & Qy fafag @ 99) 6]
Write demerits of Data Base Management System.
(any six)
AT
OR

Rrag Rerie freew & o augsd (R85 9)

‘Explain the merits of Data Base Management Systern.

(any six)
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